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Abstract: Finite trigonometric sums occur in various branches of physics, mathematics, and their
applications. These sums may contain various powers of one or more trigonometric functions.
Sums with one trigonometric function are known; however, sums with products of trigonometric
functions can become complicated, and may not have a simple expression in a number of cases. Some
of these sums have interesting properties, and can have amazingly simple values. However, only
some of them are available in the literature. We obtain a number of such sums using the method
of residues.

Keywords: series sum; complex variables; residue theorem

1. Introduction

There is a venerable tradition of computing finite sums of products of trigonometric functions in
the literature [1,2]. Such sums occur while addressing many different problems in physics, mathematics,
or their applications. Sums such as [1]:

d—1 . .
Zsin <27mz]> cot <7T]> =d—-2m @
a d d

where d and m are positive integers such that m < d, have been known for a long time. However,
if a small variation of the arguments of these functions is made, like arguments are affine functions,
then these sums no longer remain easy to compute and are not available in various standard handbooks
of mathematics [3], including those that specialize in series sum [4-6]. As an example, we may wish
to compute:

-1 ‘ -
Zsin <27';m] +a> cot (?—f—nb) ()
=1

There exist useful sum and difference formulas for sines and cosines that can be used, but such
formulas do not exist for other trigonometric functions. In such cases, there is a need to compute sums
separately. For example, the above sum can be computed for b = 0 by using existing results in the
handbooks, but for b # 0, the sum is nontrivial. In this paper, our focus is on such sums.

We have encountered such a sum in analyzing a Bell-type inequality for a system of two
finite-dimensional subsystems. We were computing Bell-Son-Lee-Kim (Bell-SLK) function for the
general state of a bipartite quantum system. We encountered the following sum [7]:

Zigcos (sz(zx+%)) cot (g(zx—i—%)) 3)
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where m and d are integers satisfying 0 < m < d. We can use the cosine sum rule, but there is no such
rule for cotangent. So, we cannot compute it using results given in standard handbooks. This sum can
be computed using a corollary, given below. Interestingly, this complicated-looking sum has the value
d, which is remarkably simple, and is independent of m. Independence of m is intriguing, and may
have deeper mathematical meaning. Finite trigonometric sums have also appeared in the study of
chiral Potts model [8], theory of Dirac operators [9], Dedekind sums [10], theory of determinants and
permanents [11,12], and many other places.

There are many techniques for computing these sums; e.g., use of generating functions, Fourier
analysis, method of residues, etc. Sometimes, the same sum can be obtained by different methods,
giving different-looking results. Chu and Marini [13] have used generating functions extensively to
compute trigonometric sums. Berndt and Yeap [14] have used the method of residues. In this work,
we will employ the method of residues [14,15]. We will start with a function with suitable singularity
structure. The function and contour will be chosen in such a way that integration of the function over
the contour gives the desired series and its sum. So, the main trick is to find suitable functions and
compute residues at poles.

In the next section, we have computed a few sums involving the product of two different
trigonometric functions. In Section 3, we generalize the results to the sums of the product of more than
two trigonometric functions. In Section 4, we conclude.

2. Products of Two Trigonometric Functions

In this section, we will compute the finite sums involving the product of sine with powers of
cotangent/cosecants and cosine with powers of cotangent/cosecants. As a byproduct, we will also get
a result involving tangent instead of cotangent. In computing these sums, we will use the expansion:

1 & A
ez—lzz‘a ]1//! zv 4)
=

where A, (t) is a function of f and ¢ # 1. The functions A, (t) can be written in terms of the so-called
“ Apostol-Bernoulli numbers” B, (0, t) [16]. In fact:

Au(t) = BV%(O{Q (5)

The first few terms are Ag(t) = 1, A(t) = = 1)2, As(t) = (:+i)3, and As(t) = _(tgfiﬁ'p).

We will also need to expand cotangent in a power series:

cot(rtw) ZC 21 (6)
j=0

where w satisfies 0 < |w| < 71, and: o
(—1)12%By;

— =l 7
AT 7
where Bj are the well-known “Bernoulli Numbers”. The first few Cj areCop=1,C; = — %, C=— 41—5,
and C3 = — %. In our case, we need the expansion:
cot(rtz + 7tb) Z G (z—1+0b)¥! (8)

with the condition 0 < |z — 1+ b| < 7. Let us start with the following theorem.
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Theorem 1. If m,n, and d denote positive integers with m < d and b ¢ Z/d, then:

-1 , ,
= ];] cos (27-Zlmj> cot” (7;] + nb)
dv +1
M (nAut) — (1) A6

V'
D(jlljZ/ .. -1]1’[)

©)

21u+v+12y+v

Here, the sum is over all nonnegative integers ji,. . .,jn, 4, and v such that 2jy + - - -+ 2j, +u+v=n—1.
We also have t; = e~ 2mmb 1, — ¢=2midb, t = e27timb gy th = e2mdb. Lore b & 7./d so that the trigonometric
sum is well-defined.

Furthermore:
n

r=1

Proof. We choose contour Cy as a positively-oriented indented rectangle with vertices at +iR and
1+ iR. The contour has two semicircular indentations of radius € (R > €) to the left of both 0 and 1 [14].
Let us take the complex function as:

MMz cot” (rz 4 7tb) e *MM= cot” (mz + 7tb)

f(z) - e2midz _ 1 e—2midz _ 1 (1)
and consider 2m Jc f(z)dz. Since f(z) has period 1, the integrals along the indented vertical sides
of Cr cancel Smce we have taken m < d, f(z) tends to zero uniformly for 0 < x < 1 as |y| — co.
Hence, 7 [ f c f(z)dz = 0. We can now calculate the contour integral using Cauchy s res1due theorem.

The function f(z ( ) has poles at a number of points. To start with, f(z) has a simple pole at z = 0,
with residue:

— 1 n
Res(f,0) = Ecot (bm) (12)
The function f(z) also has simple poles at z % with 1 < j < d — 1. The corresponding residues

at these points are:
IV 2 b os (M copn (74
Res(f, d) = _cos ( 7 ) cot < 7 + nb) (13)

In addition, the function f(z) has a pole of order n at z = —b + 1. Using Equations (4) and (8),
we can write:

f(z) = # i(Zn;Tn)y(z—kb—l)”(icjnzj_l(z—1+b)2j_l>

H=0 j=0

%) s\
y (27id) Ay(ty)(z+b—1) (14)
v=0 v!

(o) 2 : n

gy EZE e ZCNZJ Nz =1+
p=0 w
= Zmd Av(t’z)(z—i—b—l)”

v=0

Then, after few steps of straightforward calculation, one can show that:

mt dv

(A — ()M LA DG i) (5

Res(f,—b+1) =) ittvar+v—
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Here, the sum is over all nonnegative integers jy,. . .,ju, 4, and v such that 2j; +- - - +2j, + u +v =
n — 1. Using (12), (13), (15), and applying residue theorem, we can obtain the sum (9). O

Corollary 1. Let m and d be positive integers such that m < dand b & Z/d. Then:
e1(d,m) = dcos[(2m — d)br| cosec(bdrr) (16)

Proof. Putn = 1 in Theorem 1. Using the values Ay(t) and Cp, one can easily see this. [

We will now consider sums involving sine and cotangents. We will need to modify our
functions suitably.

Theorem 2. Let m,n, and d denote positive integers withm < dand b & Z/d. Then:

mh v+t
Sn (d m Z u+v2u+u ‘u!

D(jll]Z/"'/]Yl)

(Al + () AE) W

We have already defined all the terms and conditions in Theorem 1. Here:

-1 - -
m) = ]; sin (27-;"1]) cot” (7;] + ﬂb) (18)

Proof. Our contour will be the same as in Theorem 1. Let us take the complex function as:

XMz cot (mz 4+ 7tb) | e 272 cot” (nz + 7tb)
fz) = e2midz _ 1 + e—2midz _ 1

(19)

and consider 2 = Jc f(z)dz. As before, [ f(z)dz = 0. The pole structure of this function is the same as
in Theorem 1. However this time res1due is zero at z = 0, so we take the sum from j = 1. Since sin x
vanishes at x = 0, we can take the sum from j = 0. The function f(z) has simple poles at z = é,
with 1 < j < d — 1. The corresponding residues at these points are:

P 2 L (2 o (T
Res(f,d> = mjs1n< 7 )cot (d —|—7Tb> (20)
The function f(z) also has a pole of order n at z = —b + 1. Using (4) and (8) (as in the case of the

last theorem), after a few steps of straight forward calculation, we can obtain:

mt dv

Res(f,—b+1) =) ittvar+tv— ot

(At + (-0 B A 8) DG ) @D
Using (20) and (21), and applying residue theorem, we can easily obtain (17). O
Corollary 2. Let m and d be positive integers such that m < dand b ¢ Z/d. Then:
g1(d, m) = —dsin[(2m — d)br] cosec(bdrr) (22)

Proof. Put n = 1 in Theorem 2. Using the values Ay(t) and Cp, we can obtain this. [

We will now consider sums involving sine and cosecants. We will do this for even and odd
powers of cosecants separately.
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Theorem 3. Let m, n, and d denote positive integers with m < d and b ¢ Z./d. Then:

T (d, 1) Zﬂ‘”z“*”z! (1A (t2) + (—1)F T A (1))

F(j1,j2, -1 Jon)

drt
vt (23)

where the sum is over all nonnegative integers ji,. . .,jon, f, and v such that 2j; + - -+ +2joy + p+v =2n-1
and y + v must be odd. All other terms have already been defined in Theorem 1, except for F(jy, ja, . .., jan). Here:

-1 - -
. 2mmj on [ 7T
hy(d,m) =) sin (d) cosec™" (d + 7Tb> (24)

=1

The function F(j1, ja, .. ., jon) is defined using the expansion:

cosec(mz + 1tb) = — cosec(mz + 7tb — 71) = Z - 1 —1+ b)Zj*l (25)

with 0 < |z —1+4 b| < 7. Here: o
(=1)2(25 1 —1)By

KA 7] 2
where B; is Bernoulli number. The first few Gj are Go = —1,Gy = —%, Gy, = —%, and Gz = —%. Then:

2n
F(jl/jZ/"'/jZ}’l) = HG]y (27)

r=1

Proof. Let us take the complex function as:
flz) = e27timz co;;i”(ﬂz + 7tb) N e~ 27timz czsgcj”(nz + 7tb) (28)
e -1 e—2mdz —1

We can use the same contour and follow the same procedure as in Theorems 1 and 2. The function
f(z) has simple poles at z = 4, with 1 < j < d — 1 with residues:

N _ 1 . (2mmj on (T
Res(f,d> = sin <d )cosec <d —i—nb) (29)

The function f(z) also has a pole of order 21 at z = —b + 1. Using (4) and (25), we can write:

. 2n
f@) = n 3 E oy (zsnzf Hb)zf—l)
p=0 I
y (273‘1) Au(t2)(z+b—1)" (30)
v=0 :
. 2n
§=0 :
—2mid)Y

After a few steps of straightforward calculation, one obtains:

mt dv

Res(f, —b+1) =) it+tvartv— ot

(L ault) + () LA o) GD)
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Using (29), (31), and applying residue theorem, we can easily obtain (23). O
Corollary 3. Let m and d be positive integers, such that m < d and b ¢ 7./d. Then:
hi(d,m) = d cosec® (b — 1)dn) [m sin (2(b —1)(d — m)7t) — (d — m) sin (2(b — 1)m7r)} (32)

Proof. Put n = 1in Theorem 3. Using the values Ay(t), A1(t) and By, one can show this. [

We will next consider a sum involving cosine and even powers of the cosecant. We will only have
to change the function slightly.

Theorem 4. Let m, n, and d denote positive integers withm < d and b ¢ Z/d. Then:

M (e — ()AL

F(jl/er- . -ern)

k d m ly—&-v—&-lz‘u—&-v
( L (33)

where the sum is over all nonnegative integers jy,. . .,jon, 4, and v such that 2j; + -+ - +2jp, +u+v =2n—1
and y 4 v + 1 must be even. Here:

d—1 : :
=) cos <27Im]> cosec?" <7T] + nb) (34)
for d d

Proof. Let us take the complex function as:

¥z cosec? (z 4+ b) e 27" cosec® (mz + 7tb)
f(Z) - e2mtidz __ 1 o e—2midz _ 1

(35)
Then, applying the same procedure as in Theorem 3, we can obtain (33). O

Corollary 4. Let m and d be positive integers such that m < dand b ¢ 7Z/d. Then:
k1(d, m) = d cosec® (b — 1)dr) [m cos (2(b —1)(d — m) ) + (d —m) cos (2(b — 1)m7r)} (36)

Proof. Put n = 1in Theorem 4. Using the values Ay(t), A1(t), and By, this result can be obtained. [

Let us now consider odd powers of cosecants. In this case, to keep the periodicity of the function
f(z), we shall have to use the argument of sine as d I, instead of 2% as earlier.

Theorem 5. If m is an odd positive integer, and n and d are positive integers with m < d, then:

= —Er 2 ) + (R AR)

F(j1,j2, -1 Jon-1) (37)
where the sum is over all nonnegative integers ji,. . ., jon—1, 4, and v such that 2jy + - -+ +2jpy1 + p+v =

2n — 2, and y + v must be even. Here, p1 = e—7am(b=1) p2 = e~ 2ridb p’l = emim(b=1) gp4 p’z = e2rmidb,
b ¢ 7,/ d such that the trigonometric sum is well-defined:

d—1 :
= ]; sin (7‘(dm]> cosec® ! ( d] + ﬂb) (38)
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Proof. Let us take the complex function as:

ez cosec? 1 (71z + 7ib) N e 7"z cosec? 1 (71z 4 7b)

f(Z) - e2midz _ 1 e—2midz _ 1 (39)

Proceeding in the same way as before, we can obtain (37). O
Corollary 5. If m is an odd positive integer, and n and d are positive integers withm < dand b ¢ 7./ d, then:
I1(d,m) = —dsin ((m — d)br) cosec(rtdb) (40)

Proof. By putting n = 1in Theorem 5 and taking the values of Ag(p) and By, one can easily see this. [

Again as before, in the above sum, sine can be replaced with cosine by modifying f(z) slightly.

Theorem 6. If m is an positive odd integer, and n and d are positive integers with m < d and b & 7./d, then:

. mt dv+1
gn(d,m) = —D”*““ZVgT(mAu(pz)—(—U”*”P&Au(rf’z))
E(ji, 2+ s jon—1) (41)

where the sum is over all nonnegative integers ji,. . ., jon—1, 4, and v such that 2jy + - -+ +2jpy1 + p+v =
2n — 2 and p + v must be even. Here:

-1 - -
qn(d,m) = j;) cos <7Idm]) cosec? 1 (7;] + nb) (42)

Proof. Let us take the complex function as:

ez cosec? Nz + mb) e T cosec? 1 (mz + mtb) 13
f(Z) - e2rtidz _ 1 o e—2midz __ 1 *3)

Proceeding in the same way as before, we can obtain (41). O
Corollary 6. If m is an odd positive integer, and n and d are positive integers withm < dand b ¢ 7./d, then:
q1(d, m) = d cos ((m — d)brr) cosec(7tdb) (44)

Proof. By putting n = 1 in Theorem 6 and taking the values of Ay(p) and By, we can easily
obtain this. O

If we take tangent instead of cotangent in the sum of Corollary 1, then we will get:

dilcos (27ij> an (77] N nb) _ {(—1)m+;dc?s[(2m — d)brt] cosec(bdrr); ?f d = even (45)
=0 d d (=1)"%dsin[(2m — d)br| sec(bdr); ifd = odd
Similarly, if we take tangent instead of cotangent in the sum of Corollary 2, then:

di‘?sin <27'[m]> tan (7-[] N nb) _ {(—1)md sin[(2m — d)brmt| cosec(bdm); if d = even (46)

= d d (—1)"=4d cos[(2m — d)br] sec(bdr); ifd = odd

For even d, the sums in (45) and (46) are not defined when b € Z/d, and for odd d, the sums are
not defined when b € Q/2d, where O is the set of odd integers.



Mathematics 2017, 5,13 8of 11

Many more sums of the product of two trigonometric functions can be obtained with the same
contour, with a change of function. As an example, if we slightly change the arguments of the
exponentials of the complex functions f(z), we can get a different kind of sums. To illustrate this,
we can take the factor of 4 instead of 2 in the exponentials of the function f(z) in Theorems 1 and 2.
Following the same procedure as used there, we get:

2d-1 ; ;
Y cos (szj) cot (;Z + nb) = 2d cos[(2m — d)2b7t| cosec(2bdrr) (47)
=0
and: g1
) sin (27;”1]) cot (;Z + nb) = —2dsin[(2m — d)2b7] cosec(2bdrr) (48)
j=1

respectively, and b ¢ Z/2d such that the sum is well defined.
These are just a sample of sums that one can obtain with the contour described in Theorem 1,
but choosing a variety of integrands.

3. Products of More than Two Trigonometric Functions

We shall now consider a few sums involving the products of three trigonometric functions.
We shall consider only those functions for which integral along the two sides of the contour cancel
each other. Let us consider the following function:

emez e72mmz

f(Z) = [eznidz -1 B e—2midz _ 1

] cosec(7tz + 7tby) cos(mz + 7tby) (49)

Using the same contour and the same procedure as in Theorems 1 and 2, we get:

Z cos (27rm]> cosec (TE] + 7Tb1) cos <7T] + 7Tb2>
= d d d

(50)
= —d cos[(2m — d)by 7t] cosec(bydrt) cos[rt + (by — by) 7]
In the same way, by replacing the last term by sine in (49), we get:
d—1 . . .
2 cos <27'Em]> cosec (77] + 71'b1> sin (71] + nbz)
= d d d (51)

= —dcos[(2m — d)by 7] cosec(bydm) sin[rt + (by — by) 7]

Of course, this sum (as before) is valid when b; ¢ Z/d such that the trigonometric sum is well
defined. By replacing the cosecant in (49) by secant, we get following two sums:

(—1)"*1d cos[(2m — d)by 7t] cosec(bydrr)

‘ / ‘ 3+ (b = b1)7); if d =
Y7 cos (@) sec (% + nb1> cos (% + nbz) _ Jeos(3 + (b2 —by)rr] iftd = even (52)
! (—1)"~4d sin[(2m — d)by 7] sec(bydrr)
cos[5 + (by — b1)7); ifd = odd
and:

(—1)"*1d cos[(2m — d)by 7t cosec(bydrr)
‘ ' ' in[3 + (b2 — b1)7]; if d =
Ztol cos (2771]) sec (% + 7Tb1> sin (% + ﬂbz) = sin[5 + (b2 — by) 7] i even (53)
] (=1)"4d sin[(2m — d)by 7r] sec(bydrr)
sin[5 + (b2 — by)7tl; ifd = odd
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For even d, the sums are well defined if by ¢ Z/d, and for odd d the condition on by is by € O/2d.
In function (49), if we replace the minus sign between two exponentials with a plus sign, we
will find:

a1 /2mmj 7Tj 7Ty
; sin (d]> cosec (dj + 7tb1> cos (d] + 7Tb2>
j=1 (54)

= dsin[(2m — d)by 71| cosec(bydrt) cos[rt + (by — by) 7]

Similarly, replacing the last cosine term by sine, we get:

a1 27Im]') ( mj mj
sin [ —— | cosec | — + nbl) sin ( + nbz)
j:21 ( d d d (55)
= dsin[(2m — d)by 7] cosec(b1d) sin[rr + (by — by) 7]

The condition on b; for the above two sums is by € Z/d.
Just like we obtained (52) and (53), we can find:

(=1)™dsin[(2m — d)by 7] cosec(b1drr)

: , : Ty (by — by)7); if d =
y4 lsin (27;'”]) sec (% + 7rb1> cos (% + ﬂbz) = cos[3 + (b2 — by)7] ! even (56)
/ (—=1)"=4d cos[(2m — d)by 7] sec(bydrr)
cos|[5 + (by — by)m); ifd = odd
and:
(=1)™dsin[(2m — d)by 7] cosec(b1d7r)
: » : in[Z + (b, — by)7); if d =
Y4 lsin (27;””) sec (% + 7rb1> sin (% + nbz) = sin[3 -+ (b2 — by) 7] ! even (57)
= (—=1)"4d cos[(2m — d)by 71| sec(bydrr)
sin[5 + (b2 — b1)7; ifd = odd

For even d, the above two sums are well-defined if b; ¢ Z/d and for odd d, the condition is
by & O/2d.

Let us now take a different complex function. We can then obtain many more sums:

eZ mTimz e—27‘(1mz

f(z) = l:e27ridz -1 B e—2midz _ 1

} cosec(71z 4 7tby ) cosec(mz + 1by) (58)
By using residue theorem, we can show that:
2
Y cos <7Tm]> cosec (71] + nb1> cosec (77] + 7rb2>
= d d d

= —d cos[(2m — d)by 1] cosec(bydrr) cosec[rt + (by — by ) 7] (59)
—d cos[(2m — d)by7t] cosec(bpdrr) cosec[rt + (by — by) 7]
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This sum is valid for by ¢ Z/d and b, ¢ 7Z/d such that the trigonometric sum is well defined.
In (58) if we use one cosecant and one secant instead of two cosecant, we will get:

( — dcos[(2m — d)by 7t] cosec(bydr)

sec[7t + (by — by)7t] + (—1)"*1d cos[(2m — d) by 7]

):d Teos (27;711]‘) cosec (% N 7'cb1) o (% N 7'[b2> _ cosec(bydrr) cosec[ 5 + (b1 — bz)n]) ifd = even (60)
( — dcos[(2m — d)by 7t] cosec(bydrm)

sec[7 + (by — by)7t] + (—1)"d sin[(2m — d)by 7]

sec(bpdrr) cosec[ 5 + (b — by) ]) if d = odd

For even d, the above sum is valid for b; ¢ Z/d and by, ¢ Z/d. In case of odd d, the conditions are
by ¢ Z/d and by ¢ O/2d. Again if both are secants, then:

((f )" *1d cos[(2m — d)by 7] cosec(bydrr)
sec[F + (b — by) 7] + (—1)"*1d cos[(2m — d)by ]
01 g (201 qoe (7 e B cosec(bydr) sec[F + (by — bz)n]) if d = even
Lo ( a ) ( 1" ”bl) ( a7t nbz) | ((=1)"“dsin{(2m — )by ] sec(brdr) (61)
sec[F + (bp — by) 7] + (—1)"~4d sin[(2m — d)by 7]
sec(bodrr) sec[5 + (b1 — bz)n]>; ifd = odd

The conditions on bs for even d are by ¢ Z/d and by, ¢ 7Z/d. For the odd d case, the conditions are
by € O/2d and b, & O/2d.
Like (59)-(61), we can get similar sums with sine as follows:

d—1 : . .
Z sin (27{111]) cosec (7[] + nbl) cosec (”] + nbz>
a d d d

= dsin[(2m — d)by 71| cosec(bydrt) cosec[t + (by — by ) 7] (62)
+d sin[(2m — d )by 7t] cosec(bpdrr) cosec[rt + (b — by) 7]

Conditions on by and by are by ¢ Z/d and b, ¢ Z/d:

(d sin[(2m — d)by 7] cosec(bydrr)

sec[7t + (by — by)7t] + (—1)"d sin[(2m — d)by 7]

Zd 16in (27”,) cosec (% N nbl) o (% N rrbz) _ cosec(bydrr) cosec[T + (b1 — bz)n]) ifd = even 63)
(d sin[(2m — d)by 7] cosec(bydrr)

sec[7t + (by — by)7t] + (—1)"~%d cos[(2m — d) by 7]

sec(bpdrr) cosec[ + (b1 — bz) ]), if d = odd

For even d, the above sum is valid for b; ¢ Z/d and b, ¢ Z/d. In the case of odd d, the conditions
areb) ¢ Z/d and b, ¢ O/2d:

((—1)"’dsin[(2m — d)by 71| cosec(bydrm)
sec[F + (by — b)) + (—=1)"d sin[(2m — d)by 7]

a1 g (2 oo (0 e _ cosec(bydrr) sec[ 5 4 (b — by) ]) if d = even .
Lj=o ( d ) ( 77 nbl) ( 77 nb2> ((— )y"=4d cos[(2m — d)by7t] sec(bydrr) (64)
sec[Z + (b — by) 7] + (—1)"~d cos[(2m — d)by 7]
sec(bydm) sec[5 + (b — bz)nD; ifd = odd
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The conditions on bs for even d are by ¢ Z/d and by, ¢ Z/d. For the odd d case, the conditions are
by ¢ O/2d and by ¢ O/24.

In this section, we have considered the product of three trigonometric functions with simple
powers. One can extend these results to higher powers of trigonometric functions, as well as products
of more than three trigonometric functions. The list is endless. We have only illustrated a few cases.

4. Conclusions

We have obtained a number of finite sums involving products of two or more trigonometric
functions. They were mostly based on a specific choice of contour and a wide variety of integrands.
Many more sums can be obtained. For the simpler powers of trigonometric functions, these sums
can be remarkably simple. Most of these sums involve tangents, cotangents, secants, and cosecants.
For these functions, we do not have simple expansions for the sum and difference of variables in their
arguments. Therefore, one has to compute them independently. We have calculated the sums for
a few cases. One can extend these calculations in many different directions, as discussed in the above
sections. Most of the simpler expressions should be in handbooks that have trigonometric sums.
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